DIVISION WITH A REMAINDER (H - SET 4)

DIVISION WITH 1 TO 10 Name:
Time: Score: A

6 19333 -4 = ) 72551 +9 =
2 13053 = 9 = 10250 + 3 =
63 22940 =9 = ) 5947 =1 =
61) 20457 + 4 = 1) 93730 =+ 10 =
65 12629 =5 = 0 55519 =6 =
66 60290 =9 = s 6169 =1 =
67 31350 = 6 = 20 9205+ 1 =
65 19693 = 2 = 3 6906 + 1 =
69 13497 =7 = 97940 = 10 =
) 45422 =6 = 5 40306 + 6 =
m 9049 =1 = 560 20600 =+ 6 =
) 72127+ 10 = 79469 = 4 =
) 64363 =9 = ) 18694 + 2 =
™ 16014 =2 = 9) 19427 =7 =
) 79986 = 10 = 0 76059 =+ 10 =

Mathematics: Division - Level 7 - Horizontal - Set 4
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